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QUESTION 1

Which of following variable name is correctly formed for use in an IBM SPSS Statistics data file?
A. 3job_categories

B. Employee safety

C. Respondents\\' age

D. job_3_categories

Correct Answer: B

QUESTION 2

Which statement is true about this box plot?
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A. Themean is 14.

B. The standard deviation is 14 (20 minus 6).

C. The standard deviation is4 (16 minus 12).

D. of the outliers are on the lower end of the distribution.

Correct Answer: D

QUESTION 3

Which feature would you use to create a new variable whose values represent the number of times that each
respondent answered Strongly Agree to a series of satisfaction questions?

A. Compute Variable

B. Visual Binning

C. Count Values within Cases
D. Rank Cases

Correct Answer: C

QUESTION 4

If you request an aggregated dataset or data file in the Aggregate procedure, the number of cases in the new
aggregated file is equal to what?

A. Number of cases in the original data file

B. Number of aggregated summary variables

C. Number of categories of the variables specified in the Break Variables list
D. Numberof cases that you specified in the Aggregate Data dialog box

Correct Answer: C

QUESTION 5

An Independent Samples T-Test can be used to test whether there is a significant difference between the incomes of
males and females.

A. True
B. False

Correct Answer: A
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